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Question 2 
 
6 points 
 
Part (a): 1 point 
 
One point is earned for an accurate identification of how one of the following amendments affected the 
electorate: 

• The Fifteenth Amendment gave African Americans the right to vote. 
• The Nineteenth Amendment gave women the right to vote. 
• The Twenty-Sixth Amendment gave citizens age 18 and over the right to vote. 

 
Part (b): 2 points 
 
One point is earned for each explanation of factors that affect voter turnout: 

• Motor voter laws add more registered voters to the rolls, potentially changing voter turnout. 
• Photo identification laws create a potential barrier for those without accepted forms of ID, 

changing voter turnout. 
 
Part (c): 1 point 
 
One point is earned for an accurate description of how one of the following affects the likelihood of a 
person voting in an election: 

• Education 
o Education is positively correlated with voter turnout: The higher the education level of a 

person, the more likely he or she is to vote. 
• Age 

o Age is positively correlated with voter turnout: The older a person is, the more likely he or 
she is to vote. 

 
Part (d): 2 points 
 
One point is earned for each accurate explanation of why voter turnout differs in the following: 

• Presidential vs. midterm elections 
o Media coverage is greater in presidential elections. 
o Increased interest in and importance of national and presidential campaigns. 

• Primary vs. general elections 
o Partisans and activists are more likely to vote in primaries. 
o Only party members may vote in closed primaries. 
o Many primary elections are noncompetitive. 
o Independents are less likely to participate in primary elections. 
o General elections simplify choices. 
o Media coverage is greater in general elections. 
o Increased interest in and importance of general elections. 

 
 
A score of zero (0) is assigned to an answer that is off task or is attempted but earns no points. 
 
A score of dash (—) is assigned to an answer that is blank.  
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Question 2 
 
Overview 
 
This question examined the students’ knowledge of how voter turnout is influenced by constitutional 
provisions, voting laws, and demographics. Part (a) asked students to identify one of three amendments 
and its effect on the electorate. In part (b), the students were asked to explain how motor voter laws and 
photo identification laws affected voter turnout. In part (c), the students were asked to describe the 
relationship between age or education and its effect on voter turnout. Part (d) required students to explain 
the difference between voting turnouts in both presidential vs. midterm elections and primary vs. general 
elections. 
 
Sample: 2A 
Score: 6 
 
In part (a) the response earned 1 point for correctly identifying that the “fifteenth amendment gave African 
Americans the right to vote.”  
 
In part (b) the response earned 2 points. One point was earned for correctly explaining that motor voter 
laws “allowed people to become a registered voter at the place they got their liscense [sic]. This increased 
voter turnout because it was an easier way to register.” A second point was earned for correctly explaining 
that photo identification laws “required you to show some sort photo I.D. at the time of voting. This 
decreased voter turnout because people either didn’t want to find their ID, but it also limited fraud, or 
voting twice.” 
 
In part (c) the response earned 1 point for correctly describing that “[t]he higher amount of education you 
have the more likely you are to vote because you are more informed.” 
 
In part (d) the response earned 2 points. One point was earned for correctly explaining the difference 
between presidential and midterm elections: “Presidential elections have a higher voter turn out then [sic] 
midterm elections. This is because people are more informed with presidential elections then [sic] midterm 
elections because they are more broadcasted through media.” A second point was earned for correctly 
explaining the difference between primary and general elections: “In primary elections voter turnout is 
lower then [sic] general. In a primary election you are voting for a candidate which less people care about. 
In a general election you are voting for the president which more people care about, because it effects [sic] 
their lifestyles more.” 
 
Sample: 2B 
Score: 4 
 
In part (a) the response did not earn a point for identifying the effect of the amendment on the electorate. It 
incorrectly identifies the Twenty-sixth amendment. 
 
In part (b) the response earned 1 point. It did not earn a point for correctly explaining the effect motor voter 
laws had on the electorate. The response states that the registration process occurred when purchasing a 
new automobile. The response earned 1 point for correctly explaining the effect photo identification laws 
have on voter turnout: “Photo identification laws decreased voter turnout because it forced people to bring ID 
to elections, however some did not want to put in the effort to get a photo ID just for voting, thus decreased 
the amount of voters.” 
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Question 2 (continued) 
 
In part (c) the response earned 1 point for correctly describing the relationship between education and voter 
turnout: “If a person is well educated, they tend to vote more often. If a person has a high school degree or 
lower, they are more likely to vote less.”  
 
In part (d) the response earned 2 points. One point was earned for correctly explaining why voter turnout is 
different between presidential and midterm elections: “There is much more voter turnout for presidential 
elections than in midterm elections because the media sets the agenda of only caring about the president, 
and not worrying about congressmen.”A second point was earned for correctly explaining why voter turnout 
is different between primary and general elections: “There is more voter turnout in general elections than 
primary elections because primary elections are to select candidates for the general election, and people 
want to vote in the general election more and skip the nomination of candidates.” 
 
Sample: 2C 
Score: 1 
 
In part (a) the response did not earn a point for identifying the effect an amendment has on the electorate. 
The response incorrectly identifies the Fifteenth Amendment as making “voting possible for women.” 
 
In part (b) the response earned 0 points. It did not earn a point for explaining how motor voter laws affect 
voter turnout. The response provides an incorrect definition of motor voter laws. The response did not earn a 
point for explaining how photo identification laws affect voter turnout because it does not indicate how 
photo identification laws affect voter turnout. 
 
In part (c) the response earned 1 point for correctly describing the relationship between age and voter turnout 
as “younger voters are also less likely to vote than 50–60 year olds.” 
 
In part (d) the response earned 0 points. It did not earn a point for explaining why voter turnout is different in 
presidential and midterm elections. It appears the comparison is being made between presidential and 
general elections instead of presidential and midterm elections. The response did not earn a point for 
explaining why voter turnout is different in primary and general elections. It appears the comparison is being 
made between presidential and general elections instead of primary and general elections. 
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